SSIFICATION |~
4 11. Fourofthe follﬂwlnm
- in a certain way ang
& IBPS PO/MT/SO EXAMSJ group. Which 18 one ;‘h‘;?g
[ NATIONALISED BANKS g v are allke Dot belong to ttlzl;atH &oup, "
of the following (1) Dog Orse
1. Four of the following five amallk: 6- ;ogrcedam way and so f::.-rm a (3) Wolf 4 Jackg)
I e aeh Iy the amc that does p. Which is the one tha (5) Cat
group which is the one ot belong to the group (Bank Of m"nhh.
that group ? n A 1
mos e es s e 12. Fourof the following ;:;:,
. 09.02.2003) of India PO group. One thy,
3. Four of the following e are alke O e, 27.11.2008) a0t elong to that group
certain form a allke
s Whlch‘lv;at}lri:g::’c?zafgu 7. Four of the foﬂmmazrm a 3 72 4) 108
g"i“é’e'lons to that group ? in a certaln way and sgm g ) 98
(1) Crow — (2) Vulture group. Which is the one » (Bank Of Mahargyy,
{3) Bat {4) Ostrich not belong to that group Exam, 35,5
(5) Eagle (1) 144 (2) 169 13. Four of the following five ar,
(Canara Bank PO Exam. 09.02.2003) (3) 256 (4) 288 in a certain way and g
3. Four of the following g‘-’:oa-'{'g :nuk: (5) 324 group. Which is the one that
In a certaln way an that docs (Corporation Bank PO not belong to that group »
group. Which ‘&aﬂfg;_“;:p P Exam. 09.07.2006) (1} Table (2) Chair
on,
;?Food : Ig-lungcr 8. Four of the following five are alike (3) Bench (4) Desk
(2) Water ; Thirst in a certain way and so form a {8 Wood adian
(3} Air : Suffocation group. Which fs the one thgtdou PO e
: th t ou Em' L n,
‘4’ mef“  Bducation Rot belong to that group 14, Four of the following five are
(5) Leg : Lame (1)Camel  (2) Horse d
{Canara Bank PO Exam. 08.02.2003) in a certain way and sg forny
4. Four of the following five patrs have (3) Bullock (4)_Gat group. Which is the one thatdd
" same relatton between their elements (5} Donkey ot belong to that group ?
as in the casefof the galr U?rDER- [CQrporaﬁon Bank PO (1) 27 [2) 64
WAY : 30412576 and hence forma | Ezam, 09.07.2006) 3) 125 4 216
¢ bel .
{o‘“’ﬁf ;;f’,;f;’ one does not belong 9. Fourofthe following five are alike (5) 384
(1} WARDEN : 572419 In a certain way and so form a (Indian Qvergeny
(2) DERANU': 412793 group. Which is the one that does PO Exam. 18.06.

(3} NEDAYU ; 924753 Bot belong to that group ?
{4) ENDWAR ; 194572 {1) HK 2 BD
(5) URADYE ; 327461 '
(Syndicate Bank po ) F “ mp
Enm. 10.10.2004) (5} sv
8. Four of the following five pairs (Bank Of Maharashtra po
have same relation between their Exam, 25.05.2008)
elements and hence form agroup. | 10, Fourof the fol]owingﬁvearealﬂ{e
one does not belong (o the in a certain way ang go g,
group ? rm a
(1) PLENTY - L group. Which is the one that does
(2) COWARD : OwCRap not belong to that group o
((3}) ALWINS : LWAN]S (1) Tomato () Brinjal
4) EXAMIN XAEIMN (3) Radish {4 Pum
() LOCATE : ocpap (5 ¢ Pin
(Syndicate Bank
.c:o.m.zo:g faok Of Maharashtra po
] + 26.05.2008)
—————— f-h“‘-.——. e BN N B _ WW-N .Y

18. Fourof the following five are

in a certain way and so fom
group. Which is the one that dog

not belong to that group?

(1) Asia (2) Austrai
(3) Antarctica  (4) Africa |.
{5) Austria

18. Fourofthe following five are

in a certain way and so fom
group. Which is one that dof

not belong to the group?

(1) 25 2 64

(3) 189 {4) 225

{5) 121

(Bank Of Baroda Specialist
Exam. 05.10.

L
L
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17. Four of the following five arc allke
in a certain way and so form a

p. Which is the cne that does
g not belong to the group ?
an e (1) Boy 2 gl
ol o ) Lady (4) Man
N u,a'o,: (5} Chiid
Eroy, & (Bank Of Barods Bpecialist Officer
lopy P2 ) Exam. 08.10.2008)
ﬂq‘.i] 18. Four of the following are alike I
a certain way and so form a
group., Which is the one that does
2 not belong to the group ?
N (1) CE @ K
2"&%\ @ FD @ wu
30, § (5) MK
 th 2y (Bank Of Baroda Specialist Officer
up 4 Exam. 08.10.3008)
1. Four of the following five are allke
in a certain way and so form a
group. Which is the one that doee
not belong to that group ?
’ (1) 39 2) 91
'ﬂa.,,| {3) 78 (4) 52
B.-e“ {5} 45
) f% (Oriental Bank Of Commerce PO
]'a-t Exam. 31-12.200&]

& 20, Fourof the following five are alike
' in a certain way and so form a
group. Which 1s the one that does

pot belong to that group ?

(1) BD (2)NQ
'y (3) RP (4) MK
% (5) FH
] {Oriental Bank Of Commerce PO
m, Exam. 21.12.2008)
iy 21. Four of the following five are altke

in a certain way and so form a
group. Which Is the one that does

not belong to that group ?
(1) HK (2 LJ

3) BD 4) RP

(5) LN

(PNB Agriculture Officer
Exam. 04.01.2009)
22. Four of the following five are altke
in a certain way and so form a
group. Which is the one that does
oot belong to that group ?
(1) 83 (2) 53
(3 37 (4) 39
(5) 29
(PNB Agriculture Officer
Exam. 04.01.2009)
23. Four of the following five are allke
in a certaln way and so form a
group. Which is the one that does

not belong to the group?
{1) Sand (2) Cement
(3) Bullding  (4) Wood
(5) Bricks

(Canara Bank PO Exam. 15.03.2009)

~ 30, Four of the following five are alike

- CLASSIFICATION |—

34. Fourof the following five are alike
in a certain way and so form a
group. Which Is the one that does

not belong to that group ?
(1) 28 2 42

) a5 4 21

) 65

(UCO Bank PO Exam. 33.03.2006)
8. Four of the following five are alike

in a certain way and so form a

group. Which is the one that does

mot belong to that group ?

(1) Radish  {2) Ginger

{3} Turmeric (4) Potato

{5) Cabbage

(UCO Bank PO Exam. 22.03.2000)
28. Four of the following five are alike

in a certain way and so form a

group. Which ts the one that doce

not belong to that group ?

(1) June {2) December

(3) January (4) July

(5) May
{UCO Bank PO Exam. 32.03.2000)

27. Four of the following five are altke
in a certain way and so form a
group. Which is the one that does
not belong to that group 7

(1) Black (2) Yellow
{3} Red {4} Green
(5) Viclet
{Indian Overscas Bank PO
Exam, 0%5.04.2009)

28. Four of the following five are allke
in a certain way and so form a
group. Which is the one that does
not belong to that group ?

{1 45 (2) 51
(3) 39 {4) 93
(5} 85
(Indian Overseas Bank PO
Exam. 05.04.2009)
29. Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?
(1) 35 (2) 80
{3) 45 (4) 60
{5} 75
{United Bank Of India PO
Exam. 21.08.2009)

in a certain way and so form a
group. Which s the one that does

" mot belong to that group ?
(1) Cup (2) Jug
(3) Tumbler  (4) Plate
(6) Pitcher

(Andhra Bank PO Exam. 05.07.2009)

31. Four of the following five are alike

in a certain way and so form a
group. Which is the one that does

not belong to that group ?

(1) Copper (2) Mercury
{3} Iron (4) Alurmniniurn
(%) Zinc

{Andlivs Bank PO Yxam. 05.07.2000)
82. Fourof the following five arc alike
in a certain way and so form a
group. Which is the one that does

not belong to that group ?
{1 217 (2) 103
(3) 241 (4) 157
{5) 131

{Andhra Bank PO Exam. 08.07.2009)
93, Four of the following five are allke
in a certain way and so form a
group. Whichis the one that does

not belong to that group ?
(12 2) 28

(3) 52 4) 68

{5) 98

(Andhra Bank PO Exam. 08.07.2009)
34. Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?
(1) BE (2) MP
(3) KN {4) HK
(B)WT
(PNB Speclalist Officer’s
Exzam. 18.08.2009)
35. Four of the following five are alike
in a certain way and so form a
group. Which is the one that does

not belong to that group ?
(1} 54 (2) 42
(3) 81 (4) 51
{5) 36
(PNB Specialist Officer’s

m. 16.03 .2009]

36. Four of the following five are
alike n a certain way and so form
a group. Which is the one that
does not belong to that group ?

(1) 215 2 143
3) 247 4 91
(5) 65
(Corporation Bank PO

Exzam. 22.11.20008)
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— , ) MPGO  (2) Doy -
(43-48) : Fourof the | 03 {1 ¥
§7. Four of the following five arc rououdmngme ;:' alike in a certain way (3) RUTV @ vyay b |
aukemammwayand agform based on mwseaungposmonsinthe (5) JMNL |
a group. Which is the one that f 2 0 ement and so form 2 | wg (1) AMCL (2} wivk
does not belong to that group ? p. Which is the one that does not (3) GVIU (4) XDz
(1) Gold {2} Nickel belong to the group ? 10.2010) (5) HRJQ (olo"
@ patnum  (§TUOgSER [ paak Of ndia PO Eznem. S1.10. 54. () AZMN @ Byep | a09)
{5} Diamond 43. (1) BA [ 3 CXUV Wruyg | 9
(Corporation Bank PO {3 CD (4) DE 5) IRDV :
Eram. 22.11.2009) (5) FG {  tions (55- ._
38, Four of the following five arc altke 44, (1} BEC {2) CAD ol Dlreﬁv Onlanke?nﬁ] : Fo""’flb: 5.
In a certain way and so form 2 (3) FDA {4) DFB ollowing five are a \
group. Which is the one that does ADF and so form a group. Wmchlsthc“‘q_
not belong to the group ? ) aC ) EB that does not belong to that gmu;;\ &6.
Loy (@AD ©OE  @ar Baak Of Baroda PO Exam. 13.09,9,, |
(3) RUP {4} ILN (5 DA 88, (1) BAH (2} EDG 1
{5} CFA - . (3) CBF (4) HGA : 67.
(Central Bank O lndia FO the foﬂmmctgwﬂ:: a(:rg a.ljl‘:: Ln; ;l;;:: (5) DFE ]|
Exam. 26.07.2010) | @oma group. Which of the following { 56. (1) ED (2) bc }
88. Four of the following five are alike does not belong to the group ? (3) BA 4 EG :
in a certain way and so form a {Oricntal Bank Of Commerce PO 5] ‘
group. Which is the one that does Exam. 26.12.2010 (Ist sitting) (5) CB
not belong to that group ? 46. (1) Cri ck.et Directions (87-61) ; Foyr of g
(1)Brother {2} Grandfather (2) Volley ball following five are alike in a Certain vy
(@Mother {4 Grandmother | cn.«g and hence form a group. Which g\
{5) Father (4) Table-tennis zcltﬁtsd;m”mbﬂgm tltihem '
tral Bank Of India PO AT tpon the i
fGen Exam, 25.01;.2;10, (5} Badmintont alphabetical series) Englig :’31;:
40. Four of the following five pairs 47. (1) Dogs {2) Cats {(Allahabad Bank PO Exam, 17.04,20; \ the
are alike in 2 certain way and so (3) Goats (4) Giraffes 87.(1) Succeed  (9) Victory 1 her
form a group. Which is the one {5} Cows - (3) Tiumph  (4)C {ha
that :m not belong to that | 48. (1} Paragraph (2} Sentence (5) Win OMmpete «
group {3} Page 4) W
(1} RICE: ECIR {5) ;iiﬂbcts 4) Words 58. (1) Fair (2} Impartig] 6!
(2) WINGS: SGNIW 49, (1} Talking (3) indifferent  (4) Unbiaseq
{3) SMART: RTSMA {2) Blinking {5) Just
{4) COUSIN: SINCOU {3) Writing 89. (1) Kp (2) BY 6
(5) BRAKE: AKRFB 4 (3) DW (4)
{4) Sitting HU
(Central Bank Of india PO {5) Reading (5) GT
Exam, 25.07.2010) 60. (1) JLNK 7
41. Four of the follwing fve are | folloing tve e oy D) FOUT fthe G ACEE (g proo
?ﬁkelﬂ 2 certain way and hence | and hence form a groy E‘l;he;-tim way (5) GURH e
Orth & group, Which one does | one that does not bej P- Which is the 8L (1
() Long (3} ay fRenk Of Baroda PO Exam, @ KMNL () ywxr
O Hgh (g shon 8. (Asa a0l (5) CEFB
(5 Dim @ ) Antarctica Directions (62-84) :
‘ Africa (4) Alaska following five ) : Four of the |
Syudicate Bank po ) Austraiia tba are alike in a certatn way
Exam. 29,08 51 sed on the English aj
42. Fourof the following iye 2010) * g; Trophy 2) Medat ries) and hence form 3 g?:beucajs&
ace are Certificate is th up. Which |
a m“mi a::eh;nce form (5) Prize @ Gif | grou;'gne that does not helong to that |
bdﬂﬂg to the group ] ots Bot Dkecﬂﬂm (52-.54) . ; | |:
(1) Bl @ following five are alikein a Four of th (indian Overseas Bank po
(B mpede Hamper Dased upon the prer g i,V | 62, Mapx o 23.08.200)
(5) Obstrycy 4 Avod 4ppearin the alt Which these (2) ABCDV
" c fies and henge form Phabetica) ga. {3} ABCDEFT (4) ABCW .
Nationa 5 the one th & group, Which 15 (5) ABC
ok Spocjayyg gro at does not pej, D
24.10.203 g up? Ngtothat | 6€3. (1) DNFL (2) KRIT
:_*;odn PO Exam, 13.03.2013) ((5: HU‘J?J (4)BQDO
~{BPRES15)- e




R o —1 cLAsSIFICATION |
) VPz;‘
cxIG (2) AZLy 3.
wpmome @z i e o does o
5) GUKI . '
xDZc {5) ( : Four of the of Cloth : Garments?
Dix m" are alike in a certajn, way (1) Leather : Footwear
YEp f"':,"h"e,,gu form a group. Whicl; 13 the {2) Wood : Furniture
U 2o that does not belong to the group ? (3) Earthen pots : Clay
° (tadian Overseas Bank po (4) Gold : Omaments
Exam. 22.08.29; 1)
(5} None of thase
our o 6. (1) Eye {2) Kidney
thy (3) Heart (4) Lungs (SBI. Banks PO Exam. 11.02.2001)
Is the (5) Ear 4. Fourof the following five are alike
381‘01;1,?"‘-‘ 66. (1} Unique (2) Exclusive in a certafn way and so form a
-03, {3) Rare (4) Distinet group. Which is the one that does
: 1 (5) Extlnct 1ot belong to that group ?
67. Four of the following five are alike (1) Sultry {2) Hot
in a certain way and hence form, (8) Humid (4) Warm
a group. Which of the foj, (5} Cool -
does not belong to that group? (SBI Associate Banks PO
(1) Think {2} Reflect Exam. 21.07.2002)
. Of the :53; lfop:::r (4) Consider 8. Fourofthe following five are alike
1wy (IBPS RRBs Office Asaistagt In a certain way and so form a
is thg Enam. 00.09.2012) &roup. Which s the one that does
Oup) Directions (68-70) : Four of the Dot belong to that group ?
Slisp foumngﬁvearealikemacertamWay (1) 126 {2) 217
(based on the position of alphabets in (3) 345 (4)513
01)) the English alphabeticg] series) and (5) 730

hence form a group, Which_ is the one
that does not belong to that group?

(IDBI Bank Officer Exam.m.os.zou)

68. (1) KLNI @ uvxs
(3) CDFA (4) FGID
(5} QROT
69. (1) ABCDEFGR(2) ABX
(3) ABCDEU (4) ABCW
" (5] ABCDEFT
70. (1) DEI (2) FGM
3 BCE (4) UR
{5) EFK

(_SBI PO EXaMS )

2,

{SBI Associate Banks PO
Exam, 21.07.2002)
6. Fourofthe following five are alike
tnacertainwayandsofonna
group. Which is the one that does
not belong to that group ?
(1) Now (2) After
(3) Then (4) Before
(5)Again
(SBI Associate Banks PO
Exam, 21.07.2002)
7. Four of the following five pairs are
alike in a certain way and hence
form a group, Which one does not

1. Fourof the following five are alike
macenainwayandsofonna
group. Which is the one that does
not belong to that group?
(1) 131 (2) 151
(3) 181 (4171

(5} 161

$BI Banks PO Exam. 11.02.2001

Four of the following five are alike
a certain way and so form a
group. Which fs the one that does

Not belong to that group?
(1) Anxdety (2) Anger
B Sorrow  (y) Joy

B F

belong to that group ?
(1) PARENT : RPBTEO
(2) MOSTLY : SMPYTM
(3) SIMPLE : MSJEPM
{4) MOTHER : TMPRHD
(5} SUNDAY : NSVYDB

(SBI PO Exam. 09.01.2005)
8. Four of the following five pairs of
alphas and numerals have same
relationship between their ele-

ments as in the case of the pair
MATURELY : 72415863 and

hence form a group, Which one

does not belong to the group ?

(1) RAMTE : 52748
{2) LETRA : 68452
(3) TYUALE : 4231268
{4 MERUTA : 7851472
(5) EMUTRA : 671452
(SBI PO Exam. 09.01.2005)
9. Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?
{1} Mica (2) Zinc
{3) Iron (4) Chlorine
(5) Aluminium ' (rire.D
: (set #o Exam, 27.04,2008)
10. Four of the following five are alike
in a certaln way and so form a
group. Which is the one that does
not belong to that group ?
{1 18 2) 24
(3 36 4} 34
(5) 26 .
(SBI PO Preliminary (Tire-I)
Exam. 27.04.2008)
11 Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
oot belong to that group ?
(1) Coconut (2) Lotus
{3) Lilly (4} Rose
(5) Marigold
(SBI PO Preliminary (Tire-I)
Exam. 27.04.2008)
12. Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?
{1) Saucer (2) Mug
(3) Pitcher {4) Jar
{5) Jug
(SBI PO Preliminary (Tire.1)
Exam, 27,07.2008)
13. Four of the following five are alike
inacertainwayandsoforma
group. Which is the one that does
not belong to that group ?
(1) 169 (2) 225
3) 289 (4) 441
(5) 255
(SBI PO (Tire-1)
Exam, 27.07.2008
Directions (14-16) : Four of the

following five are alike in a certain way
and hence form

one that does n.

a group. Which is the
ot belong to the group?
(SBI Associate Banks PO
Exam. 07.08.201 1)
(2) Change
(4) Divide

14. (1) Break
(3) Split
(5) Separate

—{ BPRE-] 11 )-

B



—{ CLASSIFICATION |-

1) Train (2) Instruct
lﬂ-‘{” Educate {4) Advocate
5} Coach
16.(1) Extend  {2)Higher
3 Upm {4) Rise
{5) Ascend
17. Fourof the following five are alike

in a certain way and hence formt

a group. Which s the one that

docs not belong to the group ?

(1) UN 2 CG

wz {4 LP

% PT Specialist Officer

ﬂ,,o::.- MMGS Scake-IT)
Online Exam, 19.04.2014)

18. Fourof the following five arc altke
in a certajn way and hence form

a group. Which is the one that
does not belong to the group ?
{1) PTSQ {2) UYXV

{3) INMJ {4) KONL

{5) DHGE
{SB] Specialist Officer
{Law Officer : MMGS Scale-ID
Online Exam, 19.04.2014)

RBI GRADE-B/
NABARD GRADE-A
OFFICER EXAMS

1. Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to the group ?

{1} Rose {2) Marigold
3) Lotus {4) Hibiscyug
{8 Jasmine
(RBI Grade-B Offcer

the following five are alike
4 P ain way and so form a
p which is the one that docs

not belong to that group 7

(1)29 (2) 85
(3} 147 (4) 125
{5) 53
(RBJ Grade-B Officer
Exam. 2008}
8. Fourof the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group 7
in 78 [2] 48,
372 (454
(5) 42
(RBI Grade-B Officer

Exam. 11.10.2000)

6. Fourof the following five are alike

in a certain way and so form a
group. Which is the one that does

not belong to that group ?
(1) Sweet ({2} Cake

(3) Pastry  (4) Bread
(5) Biscuit

lowing five are alike in a certain way
and hence form a group, Which is the
oneﬂ:atdounotbelongtothegroup?
M;m Grade-B Officer’s
. 18.12,2011
7. (DCompare () Conflict '
{3) Distinguish (4) Contrast
N g:,} Differentiate
Recollect  (g) Retri
(3) Regain {4 Recallevc
9 (8) Realige -
. Four of the foﬂowmg alike
macﬂtamway(basegv S are

not belong to that Eroup »

(1) 126 2)217
(3) 345 (4) 513
{5) 730

- (LIC Assistant Admiy,,

3. Four of the following five
in a certain way and ag:.ml.'e,:,am‘e
g:r::mp.\iilhlchlatl'xeormmmmlal
not belong to that group ¢ ooy

(1) Now (2) Ater
{3} Then (4) Before
() Again

(LIC Assistant Admiy,

Officer {AAD) Exam, t
4. Find the oddman out %
(1) MOnday

{4) th rSday
(LIC Assistant Mml::.g.m“
Officer (AAO) Exan,,
B. Three of the following foy,y
alike in a certain way

form a group. Which
5 is
that does not l:nalongtll:loe the

group?

2} Il'ﬂTEl:ES‘I 311}
(3) OVERSEAS :'I‘CI-W‘JYUg
(4) BANKING - HPLOsG

(LIC Assistant Mmﬁll:h‘atin

off
8 momOJ ;-'-tnm 07.06.2000)
Three e fou
LS Bven el arg shmet L
Way while on
€nt. Choose the odd :ni: differ-

() 1w
) Fp @ ms




o l?l;i‘;ﬂd "e% \

O
) g?‘;n; N
2

\ . Three of the following four are

3 allke in a certain way and hence
t'ht form 2 grﬂd;l.]; “;th.lch one t:f the
| following does not belong to thae
(:;'2 \ group?

Ay Sl 7 2 o
g, g Qa‘h\ @ 17 @ 33
ag %:Q ’o,:i (LIC Assistant Administrative
fa; i;oh;;h( ) Officer (AAD) Exam, 07.06.2000)
1} Be:r ﬁ 10. t(i':'hc;.oac the odd numera} pair in
- ol'(’w’lllg H

% {1} 140-45 (2) 120.35
n‘,\ @ 11035  (4) 8025
o (LIC Aseistant

Ly a\ Officer (AAO) Exam. 07.08.2009)

2) L 11. Choose the one which is differ.
) "!U 1 ent from the rest

'Wq‘ . (1} 248 2 326
) (@) 392 @ 414
g, ﬁ (LIC Assiotant Adminigtratiye
'a'ld%g Officer (AAO) Exam. 07.06.2009)
i th 12. Three of the following four are
g t:q ankemaoertainwayandsofm

4 a group. Which is the one that
gy}_&( does not belong to that group,
"YUg (1) 156 ) 152

(3 72 4 42 ,

i (LIC Assistant Administrative

Officer (AAO} Exam. 07.06.2009)

13. Four of the following five are

alike in a certain way and so form

a group. Which is the one that
does not belong to that group ?

’ {Hvr {2) MK

f,f (3} DB (4) KH

B XV

(New India Assurance AQ

Exam. 25.10.2009)

14. Four of the following five are alike

in a certain way and so form a

group. Which is the one that does

—| CLASSIFICATION |

I8. Three of the following four are
slm.llartnrelatmntothelrposl-
tlonmtheEnghnda.lphabetand
hence form a group. Which one

doeanotbelongtothatgmup?
1) SPEAK : PZVKH

{2) HUSKY : BPGFs
(3 BRAIN . MRZIY
(4) BREAK - PZVTY
{Oriental Insurance AD
Exam. 00.05.2010)
17. Three of the following four
groups of letters are alike in
Some way while one is different.
Find out which ope ts different 7
(1) Dowr (2) EKX(R
(3} KQDX {4) AGTN
(Orlental Insurance AD
Exam. 09.08.2010)
18. Four groups of letters are given
below. Three of them are alike in
acertain way while one s differ-
ent. Choose the odd one.
(1) GWOURV (2) LZKMSU
{3} sFXPMG (4) JOEHNP
{Oriental Insurance AD
Exam. 089.06.2010)

19. Four pairs of words are given

below out of which the words in

all pairs except one, bear a cer-
tain common relationship.

Choose the pair in which the
words are differently related,

(1) Watt : Power
(2) Ampere : Current
(3} Pascal : Pressure
(4) Radian : Degree
{Oriental Insurance AD
Exam. 09.05.2010)
Directions {20-24) : Choose the

not belong to that group ? odd numerical pair in each of the fol-
(1) 187 (2) 323 lowing q‘:ﬁ‘m’; : com
(3) 119 (4) 221 - Em.;;.m.zm,;
(5) 289 : 20. () 13-22 @) 24-76
(New India Assurance AO (316-52 (4 17-62
Fram- 20.10.2009) | 5 (1)6-16 @ 18- 48
. mfgjaﬁlwaﬁ o are @21-56 (4 27-76
a group. Which is the one that | 22 (1) 39-77 (2) 51 -119
does not belong to that group ? (333-88 (4 52-91
() Papaya  (2) Mango 23. (1) 26 - 4 @) 226 - 14
" (3) Jackfruit  (4) Watermelon B)274-16 14 82-8
(Oriental Insurance A0 | 24. (1) 2-4 (2 4-8
Exam. 09.05.2010) (3) 618 4 8-32

BPRE-113 ]

Directions (25-286) : In cach of
these questions some numbers are av-
€n in rows (1), (2}, (3) and (4). In three
rows the numbers are ralaied to each
other, while the numbers in one row
hold no relation. 1dentify that row.

(United Indla Insorance AAD
Exam.03.06.2012)

1
28. (1) 3, 7'2". 3,4
(2)6. 15, 6.8

1 3 1
3 15,3:.12.2

2
4920522

3
118 |
26.[1}12.2. 4’

1
15,2

(2) 3,1, 2

27. Four of the following five are
alike In a certain way and hence
form a group. Which is the one
that does not belong to the

- group ?
(1) suxv {2} MORP
(3) DFIG {4) CEGF
(5) JLOM

(United India Insurance AAQ
Exam.03.06.2013)
28. Four of the following five are
alike in a certain way and hence

form a group. Which is the one
that does not belong to the

group?
(1) KIFp (2) QOL
{3) HFL {4) WUR
{5) MKH .
{United India Insurance AAD
Exam.08.08.2012)

Directions (28-30) : In each of
these questions some numbers are giv-
en in rows (1), (2), (3) and {4). In three
rows the numbers are ralated to each
other, while the numbers in one row
hold no relation. Identify that row.

(United India Insurance AAD
Exam.03.06.2012)
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1
a9 (1) 3. 75.8. 4

26, 15.6.8 B Swan L (alc)At;(En;::;; & IBPS PO/MT/SO ExAMs
i 3 1 Exam, 18. * —_—
@15.395.13.2 d that palr of numbers which L@ 2.@( 3.@
2 38 ::rrl:ot related to the other ﬁ‘ll‘re? 5. (1) 6. (5) 7. 3
425227 pairs of numbers due to lack o 5.2 10.@ | 11 O]
3 comumon property. 13.(6)| 14.5) | 36. 5]
113 (1) 47.59 (2) 42.29 7.6)| 18.01) | 19. ]
272" 4 (3) 57.69 (4) 73. 21.(1| 22.@) | 23. G/
. (FICL (QIC) Administrative Officer 25 @ 26.00 | 270, .
31L1=.2 Exam, 15.12.2013) -__!_ 23[51
@3 117 39. In each of the following questions 29.(5) | 30.(4)| 31. () ﬁé‘il\l]
3 1 31 find the odd word from the given 33.(5)| 34.5) | 38 @@ "Tae“nﬁ.
BT 7852 responses. 37.(5)| 38.1@ SQ.TT)“*%
| (1) Mouth Organ 41.0)] 42 @] 43 )] 4l
4 1. al-_ 42 1y {2) Electric Guitar 45.{4)] 46.(3) 47._(3)-_2'.:‘5
oard 2 . (4Y]
S1. Pind the odd letters from the gi- (3) Keyb 19. 2| 50.(4) [ 61 @[ w5
() DWHS  (2) BYDW (IcL (GIC) “‘“"‘m‘;"‘;‘;‘;’zﬁ:; 57.¢4] 88.(3 | 56. @) 605
3) CWFS (4) EVJQ to 61.(3)| 62.(5 | 63. @[ aim
(NICL (GIC) AO (Finance} | 40. Find the odd one out. <) | i“-—@
Exam, 06.09.2013) (1) Cathedral  (2) Mosque 3.3} 66.65 | 67. )| ea
32. Find the odd word from the giv- (3} Monastery  {4) Temple €8. {1)| 70. (5)
ﬁr;altemtim. 2w (NICL {GIC) Administrative Officer SBI PO EXAMS N
pos Slcqmum)mg,g @ alidng Eram, 15.12.2013) i
meL i) Aom::mge] 41. Unscramble the letters in the giv- 1. 2.5( a. B} 4.5 '
Exam, 08.09.2013) €n words and find the odd one 5. (3} 8. (5) 7. (4) _‘3""‘?- ;
33. Find the odd word from the giv- (1} PLPAE (2) RAORCT ) — 'l.
- 0.3 [ e
en alternatives, {3) AUVAG {4) NOONT T sl U]
(1) Ladder (2} Staircase O] 14.@ " 15, @[ 16751,
. (NICL (GIC) Administrative Officer 1!
1 (3) Bridge {4) Escalator 17.{3)| 1s. {3) -1
MaCL@I10) AD Exam, 15.12.2013) _
{Floance) | 40 Find the odd one o —
Zxam, 08.09.2013) ut RBI GRADE-B
34. Choose the pair tn which the (1) Pistol {2) Sword /
m are differently related from (3) Gun (4) Rifle NABARD GRADE-A

3 Bt s (VICL (GIC) Administrative Officer OFFICER EXAMS
(2) Rice : Cereals 43. Find the odd 7‘“:'1- Pl
(3 Tea : Beverages alternaty s etlers from given 1.4 2.4 3. 4
K) Legumes : Nodules (Poxz 50| sl 7o 8. 15
(NICL (GIC) AD (Pinance) (2} BCoN 9. (1)
s Enm, 18.12,2013) (3) ABDF (4) MNPR
meoose‘ rmm!h!;c “:;dwludl Is differ- (NICL (GIC) Adminiatragiye officer | | _IN SURANCE EXAMS
(1) Wou . + 18.12.2013) L
gy gj; t}!‘r:xmy 4. In the rronowmg question for - ::J 20 8. 4g
pact Pairs of words are given oyt of 2| e 7 @[ 8719
(GIC) AD (Pinageqy which words | © 9.2
36. Choase 1ty « 18.12.2013) related in the squme ., PATS are . 10.0) | L@ 12
Shoase the word which t gype Palr which is cyeronnsy - d the | | 13 @ T2 6 [ 15,5 16,19
Tom the regg, Chis d’m"‘eﬂlly related? 17. (1)
1] Ket (1) Lyric, Oge e . 18.3) | 19,9 20,12
g’; C.V, Ramgy 20 (2) Sky, 2L W] 20 2@z
to) Retagopatachay (3) Head, Legs 0] 6.0 276 2.0
Rﬂdha‘m}m (4) Newspaper. Journalgt -__:_g"(%!‘ S.@] 81w s %
(Pinan, N1y, . 34. (4 .
v (G10) Admanstragive oggee: B N AN
) . 16.12.201 -1)] 38. @) 39, @ 20.(3
Lol 25T el ae
= BDDI:\ T« EhmmPp A A =B



The value of ‘E’ is ‘1’ and not ‘2",

E
J
1

w g

Exm.mmons = | ]

NATIONALISED BANKs

1 CLASSIFICATION =

& IBPS PO/M1/SO EXAMs|

1. (4} 125 is perfect cube of 5,

2. (3) Except Bat all otherg

to class Aves. Bat is a

& (4) Without food we feel hyy
Without water we fee]

without air we few] suffocatioy

Similarly, without leg one
&3 U

N
\
9

@

NDE
14
9 41

“en

o X
o 2X

PC<¢—po

R.
i
2

Ay
4
7 6

belong

thirsty,
18 lame,

3 4 5 6
Lwa NTg
231 545
123 456
YA
XAE I MN
2 3 5 4 6
12 3 4 5 6
LOC aTEg
OCL TaE©g
2 3 5 4 ¢

6. (5) Except 257, alt other number
are one less than perfect square,

7. (4) Except 288, all other nurnbers
are perfect squares,

8. (4) Except cat, all other animals
are considered to be beasts of
burden.

8. (2)

H—2 kB2 ,pp_

M—-la__,p.s_.*i_,v

10. (3) Except Radish, all others are
frults. Radish is a modified root,
11. {2) Except Horse, all others are
omnivores,

12. (5} Except 98, all others are mul-
tiples of 6.

13. {5} Wood is different from others.
Wood s raw material for the other
items,

14. (5) Except 384 all other are Per-
fect Cubes of Natural Numbers.
27=333x4;64=4x4x4:
125=25x5x%x5,216=6x6x6
But, 384 = 7.26 x 7.26 x 7.26
15. (5) Except Austria, all others are
continents. Austria is a country.

" 16. (2) The number 64 {s both per-

* fect square and perfect cube of
natural numbers.

4x4x4= 64 8x8=64

All other numbers are perfect
squares of natural numbers.,

17. (5) The sex of child is not clear.
Child may be male or female.

18. {1)
C—2,E K—21, F—2,p,

. Wy, M—2,K

19. (2) The number 91 1s a Prime
Number,

20.(2) B—2,p;, N—2,0

R—=2,p;, M—2,K
F—2 ,H

21. (1) -3 kiL—255: 525
R—23P; L—t2>N

22. (4) Except 39, all others are Prime
Numbers.

23. (3) Building is different from the
others. All others are raw materi-
als used for buildings.

24. (5) Except 65, all others are mul-
tiples of 7.

28. (5) Except cabbage all others grow
underground,

28. (1} Except June, all others have
31 days each.

27. (1) Except Black, all others are co-
lours of a rainbow.

28. (5) Except 85; all others are mul-
tiples of 3.

29. (5} Except 75, other numbers are
nearest to the perfect square
numbers,
35+ 1=236=(6)2
80 +1=8]1=(9)2
45 + 4 = 49 = (7)2
60+4=64=(8)°

30. (4) Except Plate, all others are

used for storing water (liquid).

31. (2) Except Mercury, all others are

solid at normal room temperature,
Mercury is liquid at normal room
temperature.

32. (1} Except the number 217, all
others are Prime Numbers.

33. (5) 1 + 2 = =3 Odd Number
2+8=1+0=0dd Number
5 + 2 =7 = 0Odd Number
6+8=14=21+4=5
= Odd number
9+6=19=1+5=6
= Even Number

34.(5) B—2 L, M—_,
K

P

K— N B3,
w—3,7

38. (9)
54:9!6:
42=7%6




§ CLASSIFICATION }

8]l -9x9:;
J6=4x9 12x3
But, 51 =3x 17

i.c., both the factors of 51 are

Prime Numbers.

36. (1) Except 215, all others are
muitiples of 13.

143 =13 x 11; 247 = 13 x 19;
91 =13x7:65=13x5
But, 215= 13 x 16.53

37. (5) Except Diamond, all others
are metais. Diamond {s an allot-
rope of carbon.

38, (4) L__+3__’0__—;_5_’J

F—*3 5 ,p
R—*—s—pu—é—pl’
—2 52 N

e ,p_ 5 A

30. (1) Except Brother, others indi-

cate Parents and Grandparents.
4.1 234 4321
RICE=ECIR

12345 54352
WINGS=SGNIW
12345 45123
SMARTSRTSMA

123456 456123
COUSIN=SINCOU

Except in BRAKE : AKRFB, in all
others, the order of letters has
been changed. But in BRAKE :
AKRFB, the letter E has been re-
placed with F.
41. (5) Except Dim, all others indicae
length or height,
42, (4} Avoid is different from theoth-
ers. Avold (Verb) meang * to keep
oneself away from somebody or
something, ‘to try not to do Some-
thing' ete,

Block (Verb) means ‘to make
movement or flow difficult or im-
Possibie’ 'tg obstruct’ ete, Other
words alsg convey the simijar

‘3-(2) ExceptjnBD

first ang the
t and the
" nd persong, 84. (5} Except in IRDV, in all otherg
Pt in FDA, in al) ogp, e first two }
the D ers o ctters are pairg of
o threese'perso S are seated Pposite letters and the Jagt two
ockwi letters are tive letters

48. (4) Except AF, all other palrs in-
dicate the persons seated adja-

cent to each other.

46. (3} Except Chess, all other games

are played In fleld or on Court.

47. (4) Except Giraffe, all other ani-
mals can be domesticated.

48. {(3) Page is used for printing al-
phabets, words, sentence and
paragraph. Except Page all oth-

er arc associated with language
and script.

49, {2) Except Blinking, all other ac-
tivities are associated with human
beings.
860. (4} Except Alaska, all others ore
continents. Alaska is a mountain

range.
B1. {4) Except Gift, all others are giv-
en to winner only. :
32, (3) '
M2 ,p M g 2 5

.

8. {5) (1) @

o

2 18
B A H

41

2
B

el
(=4
o~

E

K]

mm
E
o 00
%)

E;
<D
}H‘

W

2

5}

(w3
D
[oR4]

1-2|
6. (4) Except in EG,
the first gtudent isl?o b
right of the seconq st
57. {4) Compete ig differe
other words,
58. (3) Indifferent cony iy,
89. (4) Except HU, allotl'nm::d‘
of opposite letters.

. HandSarcoppogitehnem

Nt from,

60. (5)

62.(8) X = 24,2449 .95
v=22!22+4=26
W= 23 23+3=9¢
$=19,19+5=94
-2 :
63.(2) D N F

I L
+2
+2
K E
R | T
L A
-2
-2
—
H u J S
_ 4
+2
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-2
'8 7, — SBI PO EXAMS
TQI A B e Y ° 1. (5} The sum of all other numbers,
|_+2—T except thl:mnumber 161, is odd
number,
-2 131 9 1+3+1=5
lauon., 3 151w 1+5+1=7
) eqer@. J w L u 171 =2 1 4+ 74+ 1= 9
::'ent, lagg L2 18l=1+8+1=10
fmmu'e +2 =1+0=1
s g “{SjmccptmDWVI‘.mallothm But, 181 = 1+6+1=8
r yyrehey, there is at least one Vowel, 2.(5) All others are felt by human
Sar:rd‘a- 65. (3) Except Heart, all others are being.
Pay, found in pair in humans, 8.{3) The first is the raw material
" 80. (5} Except Extinct, all others from which the second is made.
terg, _ words convey more or less sfmj. But in case of option (3) the first
. lar meaning. is the product and the second is
: Extinet (Adjective} means ‘no raw material,
3 longer In existence’, ‘no longer | 4, (8) Except Cool, all others refer
\’ff
'Qa%n active’, to hot (warm) and/or humid
-‘51,_,8 67.(3) Speak ia different from the mgmd-ml (Adjective] means
-3 other words. Except ‘Speal’, aj] )
Q) her words . | B (3) Except 345, all others are one
3 othe signify abstract ac.
) tions. : more than the perfect cube.
86. (5) 1286 = (8)* + 1
217 = (63 + 1
1 H +2 -5 513 = [8]a +1
PF ) +1 : +2 N ! 730= {90+ ]
;-—aN U -V —X—=5 3 But,
L c—p—¥2,p_5 ,, 345 = (7 + 2
T N 2 - 6. (5) Except Again, all others
B F 3G - [ +D denote certain perjod. '
90— 95R—=2,0_ 1| 24P AR E N T
+1 + 1
69. (1} The sum of the position num- R P B TA:QO
bers of the last two letters in each M O s
letter group, except in ABCDEF- T L
BX= 2 + 24 = 26; SMP v T M
EU=5+ 21 =286; I M P L E
CW = 3 + 23 = 26; ;@Q M.
FT=6+20=26 M S8 J EBE P M
But, GR= 7+ 18=25 OT E R
+1 -1
7.5 D +l—;E‘%;lf T M P R H D
F—,6% ;M y_N A Y
+| #1
+1 | +2
B 1 »C 'E NSV YD B
=45 .p 8B)MA TURETLY
N A A
E +1 +5
— *F——K 72 415 8 63
5 Is odd number and other than RAMTE
Even number A )
So, Ans is (5) 52 7 4 8
b ’ r

NeR2heH Ot
BeeWWe 0D
G I
—~=C N> e
PPN N X I N
Nep e

N 2
- =
|
L4
[T

2@ «w

9. (1) Except Mica, all others are el-

ements.

10. (3) The number 36 is a Perfect
Square.

11. (1) Except coconut, all others are
flowers,

12. (1) Saucer is different from oth-
ers,

13. (5) Except 255, all others are
perfect cubes of natural numbers.

14, (2} 'Change’ {s different from the
other words. Except the word
Change all other words show

tation

18. (4) ‘Advocate’ is different from the
other words. Except the word
Advocate all other words imply
some kind of directions, dissem-
ination of knowledge and skill.

_ 16. (1) ‘Extend’ is different from the

other words, Except the word Ex-

tend all other words indicate alti-
tude,

17.(3) J—4 5N

c—* 5q
L ,p
pP—H_, 1
But,
w2,z
18, (3)
Py =t g 2,9
U M—)Y -1 3 =2 >V
K—3 0.2, 2,1
D—H 4H SN 2 ,E .
But,
1 +5—>N 2 ,M—3 3 dJ

"
"
;
7
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—J CLASSIFICATION |
9. (1)
RBI GRADE-B/ .5 s v _
NABARD GRADE-A J—>@—>»L—">N
- -1
OFFICER EXAMS T8y y 25w =Ly g
-2 -1
L. {4) Except Hibiscus, all others are C-+—5> H—=s P—> E
sweet smelling flowers, Hiblscus 5 2 -l
Is a plant or bush with large, N2 s-=3g9—>p
brightly coloured flowers, grown
especially in tropical countries. G +5> L -2> J -1‘;!
2, {4) Without food we feel hlll.llngtry.
Without water we feel thirsty.
Without air we feel suffocation, INSURANCE EXAMS

Stmilarly, without leg one is lame,

3. {1) Except Paper. all othera are
writing materiais. We write or

mark something on paper.
4. (4) 125 is perfect cube of 5.
B. (2)The number 48 i3 nearest to a
perfect square.
48+1=49=7x7

1. {5) Except Cool, all others refer to
hot (warm) and/or humid condi-
tion. Cool (Adjective) means ‘[airly

cold’,
2. (3) Except 345, all others are one I ]‘
more than the perfect cube.
126 =53 + 1
217={6)3 + 1
+5 .

6. l() 1) Except Sweet all others are
alced, 3
X , 513=(8)°+ 1
7. éi)‘mlct i5 different from oth- 730=(9)8 + 1 ] +6 =
Comipare (Verb) mesns “to exam- But, . 7~
lnepeopleorthlngstosechow 345 = (7)3 + 2 6. PROFIT ‘_‘MPC
they are alike and how they are | 3, (5) Except Again, all others denote 12 4 il
different”, “to judge one thing certain period. ”Z‘T
and measure It against another 4.(3) The leiters at odd places are +§'
. ) written {n Capital Letters and the .
tifyng’u;: re{:‘fl‘:l?tolg?;s to b: letters at even places are written fi e
Yery : oppos 11; :;1;:11] letter:. Discard last three OTHERS -—T'ETE'T\
Distinguish (Verb) means “to M 0n T b day. +2-$ ‘\R
recognise the difference between o ~=
people or things", 4 { 4 +2
Contrast (Verb) means “tp com- 1315 14 =2
pare two people or things and t Uu E 5 +2 —
show the difference between ) =2 __—
them 2 N L ECUME—SF Ty o0
s!:ieﬂ'eru;]ﬂat;] (Verb) means “to W E 3 ;‘9 o 2 4 ‘?R
or show that tw, things 2
different.” 0 Rings are ol J JE-: JS, Y T
8 “ “‘
[rom the past-, Pmething i il f ! > +;
Retreve (verp) Means * Lo CAN ‘-‘>-
something bact to get 20 g 21 18 19 Lot +2 %\Y A Gf\
:)egat:]n (Verb) means “to get 8.2 —5— T T
metning back .
Ing 1t- 4 4gain after Jog. CUSTOMER-—)SGPM +§
Ree “ :
Realige ¥V
. or‘ﬁbé;”f'“ “t0 become 7. {4) Except in letter group SFXR.
: mfact". D Something gs MG, in all otherg there is/areont
Thus, o or two Vowels,
other wordg erent from +14
, 8.9 1,y g
F "l-l4 T J +11 »U




Square.
10.(3)4 x5 x 7 = 140
3x5x8=120

2x5x8=80

11.(3}248=2x4=8§
326=23x2=6
8302 =3 x99 =27
414 =4x1=4
19. (2} Exccept 152, all others are mui-
tiples of 6,
156 =26 x 6
72=12x6
42=7x%x6

18. (4}

H p

i

V—"25T; M—29K; D=2, 5;
/ K—2uH, x—2v

14. (5) The number 289 s a perfect
square of a natural number.,

Ct 17 x 17 = 289
J 15. {4) Except watermelon, all others
grow on tree. Watermelon grows
on creeper.
16. (2) Pairs of opposite letters are
given in reverse order :
Cr s PEAK
T1T1T113¢
KV zZ P
HU S K Y
T tT e
S F @ P B
BRATIN
!I1t¢t1?
YI ZRM
?
BREAK
A S
Yl vzep
17.(1)
iy
¢ DB,y 418 .y -5 .p
E—8 ,g_#3 v -8 p
K250 43 ,p_6 ,x
A28 ,G_H3 . -6 'N

9. (2)The number nine is a perfect

—] CLASSIFICATION |-

18. (3} Except {n letter group
SFXPMG, in all others there are
one or two Vowels.

18. {4) Except in the pair Radian -
Degree, in all others the first term
is the unit of measurement of the
second term.

20.(2)22-13=9
76-24=52
52 - 16 =36
62-17=45
The difference between the two
numbers in all the pairs except
76 - 24, is multiple of 9.

21.(4) 16-6=10
48 - 18 = 30
56-21=235
76~ 27 = 49
The diiference between the two

numbers in all the pairs except
27- 76, 1a multiple of 5.

22. (1) Except the number pair 39 -
77, in each of all the other num-
ber pairs the two numbers are
the multiples of a same certain
number.

23.(3)26=(5) + 1

4=5-1

226 = (15)2+ 1

14=15-1

274 =(17)2 -

16=17-1

82=(912+1

Bag-1

24.3)2x2=4

4x2=8

8x4 =32

But, 6 x3=18

3 is an odd number.

28. (2) In all the four options the first
and the third numbers from the
left are the same. In Option (2)
the second and the fourth num-
bers are whole numbers.

26, (4) Arrange the numbers in as-
cending order and find out the
difference between the two con-
secutive numbers. This will reveal
the pattern of numbers.

Option (1)

= 0.50, 0.75, 1, 1.5
Option (2)

17.2,3
2!'

-l.rh‘l'l'l'l'ln ), M A

Optionta}
1313
4’8’ 2' 4
= 0.25, 0.375, 0.50, 0.75
Option (4)
13,11
8'a 2
= 0.125, 0.75. 1, 1.5
27. (4)
s_*2 ,u—B  x—2,Vv
M—2 ;00— 4R—2P
D—*2 ,p_—*3 412 ,G
2 E—2 56— >F
J—*2 ,p—* ,0—=2M
28, (3) K—2 51— F
Q 2 ,0—3 ,L
H—2,4F ¥ L
w—2 ,u—=3 R
M—=2 ,Kk—=2,H

29. (2) Inall the four options the first
and the third numbers from the
left are the same. In Option (2)
the second and the fourth num-
bers are whole numbers.

30. (4) Arrange the numbers in as-
cending order and find out the
difference between the two con-
secutive numbers. This will reveal
the pattern of numbers.,

Option (1)

1 3
e B 1_'
2 4 2
= 0,50, 0.75, 1, 1.5
Option (2)

1,1

lll‘ZB
.2"

Option (3)
1 3 1 3

4’8'2' 1
= 0.25, 0.375, 0.50, 0.75
Option (4}
1 3
=™ 1, 1'_'
8 4 2
= 0.125, 0.75, 1, 1.5

1 1
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—] CLASSIFICATION == —

— ¢ in Legumes — Nodules, 40. (3) Munasterv i~ ., place or|,
aL (3) p€—3W . ]‘:J:[:lx :‘;Pcr pairs second denotes ing where Buddhist moni m_:;lﬂ-
pair of Opposite Letters. the class to which the first be- a community. All others are p,. 2
b 5 Jongs. es of worship. .
a8, (1) Except wool, all others can be 41. (4) PLPAE =» APPLE
D W tained from sheep a;: g;-:;j Al AUVAG = GUAVA
Except Acharya Krp
Ee—>V 36. f,ﬂ,mc:fe Bharat Ratna Award- NOONI = ONION -
o = b L
chick live in many |
The opposite letter of C I3 X. 37. :‘g g except chicken can fve inside each other, Y layen
The opposite letter of F is U. o : t in the number-pair42- | 42, (2) Sword is different frq
82. (3} All except sleeping, denote m;g.ﬂmm aﬂil other pairs, the differ- other three. Sword is a wema
activities. ence between the two numbers with a long thin metal blade
33. (3) Bridge is different from the is 12. a protected handle. Pisto) 15 ang
o u:ee;oih;ﬁc;bliﬁgdﬂ;rai:dadmnm' 59 - 47 = 12: 69 - 57 = 12; of small gun. b
1. .
Staircase I3 a sct of stairs and 73-61=12 43. (3) Excepl ABDF', in all other let.
its supporting structure. But, iler groups all the four letters an
Escalator is a moving staircase 42-29=13 consonants.
carrying people up or down be- | 39, (4) Sonata is piece of musiccom- | 44 (4) In all others the two termg
tween floors or diiferent levels. posed for one instrument or two, denote the two extremies, Ap
Bridge Is a structure of wood, one of which is usually the piano. is a poemn addressed to a Perso,
iron, concrete ete. built to pro- Except sonata, all others are mu- or thing or celebrating some
vide a way across a river, road, sical instruments or part of a mu- cial event. e
railway etc. sical instrument. -'
oM
l MODEL EXERCISES )
1. Three of the following are alike in 8. {1 —]
~acertain way and form a group., () CIRE (2) NAIR
; Pin the odd ome out, ©LoUDSC (@) RuTHDE | =3 EXPLANATIONS e
{1) Bird {2) Insect (5) None of these _ _ —
5 Mo, olT'nt:cs?J e 7. FWE (2 FLAMEE - :ﬁ}e?l;ept sccts:allother iy
Directions (2-5) : In each of these (3} BUSHDNA (4) OMAWN 2. 309 Ot;cu ies th.
uesti 5 N bies the odd positio
questions, four terms a-e given, While one of these (17) in the alph "
one is different f; way, the odd one out. creas other occupy the eve
the ogy erent from e rest. Select | (1) Grams Position. i
one as your answey. {2) Litres 3
2 - (1) Al other op
mT @z ) Tonnes  (4) Qminatays cartying "rpojsecm are used for
@99 @ H (5 None of these 4. (4) Bxcopt shoe:
(5} None of these €pt SAARC, al other are
Lk g : Which of the following cannot e | g @) T Cr UNO.
4 number of . € su i
3 of th m of
({SJJ;::C f th (4} Basket 64, 125, 2 coerles 1,8, 27, Numbers js 28 “gits of all ather
o m LTy B- ] l .
L0) UNICBF ) e W26 (g 799 then Wordy opers are arrange
(3 WHo (3) 512 rds formed are CRIE,
(4) SaARe @) 1000 RAIN, CLOUDS
(5) None of thege (5) None of ‘ Ex ; THUNDER
55875 64, these o thecept CIRE all other belong
Bls7gg Same category
@9 79 '

{5) None of g, —-_..E!_i_ORT ANSWERs P Reear:{al:’sgl:ai words are Wife,
questy (68):1n., —— the Husband deas w2 Henee
(estions there 4y, 'q 0O of Lo 209 | o and does not belong to
st lers b oy 7 W S with | [ | 300 | g || g, g ponieBory.

€ alike. Find he 0dd o . them 2| e 700 | o :n) Litre is the unit of measure-
e out, o ] 2B o ) aorliquid
ven numbers are cubes of

.y
\S\hJI\J“ .-J J. . nnat:.lra_l nul-nbem.



